Total No. of Questions : 42 ] Code No. 3 ].
Total No. of Printed Pages : 16 ]

March, 2010
STATISTICS
( Kannada and English Versions )
Time : 3 Hours 15 Minutes | [ Max. Marks : 100

( Kannada Version )

Fgweedd ¢ i) TR0L,B BREF BRYRY, FeVTN BRTCMTT.
ii)  FF08 Neodee@BTanY=y, BB RNTLITIT.

i) 5I0RET R, BOSNLIR, 77N SReOTTE,T..

agen — A

L 8 39N3 aoy, IFNE

oL El

Q03,08 : 10x1=10

1. eRT B03-BOBT LOTR TORVTTY, E9A.

&

[l
&l

TR, TRFE, W3S ZReT087y 121 &NE. AT, RTH0NTTY, 3R8.

3. XU TOTIED BALI08E BOGILROININTOL BRJFTITy, WIWD.

4. 9DBERT LTSTWIBR 0N YITIHTH SRG.

5. {33 HITHBOD FTROCIN LIORBN0B 3 aciedde ?

6. FInRT, 130 $TO ATRON0S 2R, IS INTBREYT AOLTRNS 2y, 7
7. D0NT TRERT O YUTOIRENTTY, 9.

8. RURR0 MOF08 N0TTeRD 7

9. R BT o B3 (Value ) &y, 7

10. #m0R8 Mo A0NV0ZEE,  YOTOIRENFDE  00Zed  TF,030 TR,NE
CRIFFPOST, 03yt 0T IFOA.

[ Turn over



Code No. 31 2

II.

NN -B

8 3UNT CRFYTEOR R, FFHER 03,08 10 x 2 = 20

11.

12.

13.

14.

15.

16.

17.

18.

19.

20.

21.

22.

WOTH AFF, [IRCTE,, wor BToNmE), 4,000 208 WIINYY ROLDAE.
BoeDT 50 FLRAFE), TMIAT WRTE0T S0300T AT E,0083,T.
FRg, FoTUee TOBT, ( MMLR. ) B0t (1,000 3,).

RDIY, 0BT C30EYTIITITR DT NBEMETY, LTCW0.

P, (L) =1083, P, (P) =110s33, P (F) &) 30@:%300.

BE00T WO.T QT BORTY, 539,809,28 0B, WOT> NTHHTE 3RR.
O3 ALOFINGE, {,H/W LITEHOIN BpeFes® LITHBR T, 0w s 7
Q038 TR, HITHV FTRD T, HBOT 008,37

20T B0, 030 T8, F0B), FTNFENYTY, 309,509, 1.

-3, e0% (¢ ?) Soed 08 w03 FTOWRRY, BT FR0RITNT ST

Re0FSHTRY, 2S000.

()‘(1—)_(2) = 27 3, SE ()_(1—5(2) = 1:3 &mn, 5% o5, BF

TE,TE) OB TR A, BRI 7
ROYTeec B QB BIF, 00T, wW,a7, .

20T CROZT NCVEIe IRET IRTY 3303, 3B, FOWE BT WY, AW
geoemaN TR, 10,000 033, SR, 10,200 SNAG T, o R0RD 388§, 0 7

WOTH FR,NT BoIR0FT FFodedd), LTRTNW YOOI TTENTINT DT

QTT T0NTTY, &9R.



23. B IYNT T, B0T AN POT0LT [TTTY, FORLROWD :

3

agen - C
. 83 BSATYNTE, BRRYTTTH N08d IZNRYR 03,08 :

T30 LD | 26308 wIEAS
(S=neS, ) mT0 zozs,
15— 19 50,000 1,000
20 - 24 60,000 7,000
25 - 29 45,000 8,000
30 - 34 40,000 5,000
35 - 39 30,000 900
40 - 44 25,000 100
45 - 49 20,000 50

Code No. 31

8x5=40

24. FP15,030 TU3RoNE), T SRFYTHRTCR L ORGP, WID.

25. & BYNT T322,088, 03,03 Mo BRI, 08EEY BOBILROWD :

S e A B c D
&0 BRET TORTEIE 10 7 5 10
T8, IS [OBRENLD 11 8 7 15
F8, IS BSAD 50 | 30 | 20 10

26. B 3YAT To© Beednt 5 IRENAY BOTO FTRONTTY, FOBLEROWD :

EnEat TP,
2000 10
2001 15
2002 18
2003 21
2004 25
2005 30
2006 33
2007 40
2008 50

[ Turn over



Code No. 31 4

27.

28.

29.

30.

31.

0T BO,FR,IRE, B2 B8, 09RO 0-3 IF), PBUDRIE. & BR,ITE, 500

NPT B, Ry, [NYE,
) cdmsck IQYRLDROY,
i) SAF 0B 3P, WITB 7

4 3TSZ,RY T TEYNIY, 64 30 WL, ITNT. 3S e LTS [0ed, 3

53,8, ROL, MY, B0BELBORD.

60 OTAIATE, 0T WATE, FEIREIFT 03, 030TY, MEARSAWIB). FOIRETT
FOUR0 Ty, WODT LWONN FEIemeN 40 I, 3 GNLZ,T. 5% 0T, T

8306 WAR FOSREIFT FTRON 35 8,08 R, RWTTE Q0T B[O, A

o3

SEM B0b5, 00 T2,088, 5% O, TE TTY, TR TN ORTINEE,

T, T2, AT 0T B[O, ¥

g, S
790303 ~ 1 100 0-02
Fdeie - 11 110 0-01

Fowled0dd  Hemed P, IoWedodd ToBC 5 QmPENE  wh WE,
mosnegsy  (1.Q. ) 89 ameNT :

32, BENED A B c D E

3oiedod Beced 100 130 120 140 135

3523e303> Fo3d 110 133 121 140 138

BOLB030 LTI, PENE L8 30, MIFT0BNYRY, T3, 70, T3¢ 0T [0 &

(0= 1% 208 SR8



5 Code No. 31

32. MoHTE A whE, RITO, NOT II,Ty, LBIRNL B NS oy
RRA.

geoeb - B
Bl B2 B3 B4
A4, 0 5 4 2
Semoeb - A A, 1 o . 3
A | _3 1 -3 0

33. 8p0% t3C CR. 10,000 TOF 2,080 0N0ZEEEY, WHORLD 0T FLTFEHR
C3REWRE T, BT FTW-LFOD #5590, T, 100 . VTT ARTEDE #03,MEd
83 g¥nzoec.

SRS AT ef,nish (de.nse) )
1 300
500

900

1000

1500

2000

2500
3000

W | N3G W N

&3 032083y, G3neen WA 7

34. ZWoHT MY 5 T 6 TIWoRNY FTRO (x) B, 7, (R)
nesy, 8 S9AT B:3,000, 2B,

wEmem dozd | 1 2 3 4 5 6
oome (%) 10 | 11 | 10 | 12 | 15 | 18
32 (R) 5 7 4 9 6 5

X -%8,03 Q0300 SINST, B0REROWO.

(A,=0577 0w 2ead )

[ Turn over



Code No. 31

6

gen - D

IV. 8 3eNIYned, CInmmnts 8@ IB e v03,08

2x10=20

35. 8 YN TI,03000 QTVEY Myeone A0NBYIZ IO TONGRY, I0ELRE,

23 e :
Eed Do myeo—- A my&o- B
(R ) | 88802 | gygesd | shom | memesd | oo
0-20 20,000 | 8.000 128 | 4,000 72
20 - 50 30,000 | 13,000 | 65 9,000 54
50 - 70 35,000 | 10,000 | 140 7,000 98
70 3, 15,000 | 4,000 | 252 3,000 129
e,

36. 3INT TI:08000 mUFET-INE  BF,  IRICOT-QET S[SE

zi_raméoa‘ﬁ%%a% FOTERCWD ¢

xS

3¢ (oe. ) Zozreo
S, 2005 2008 2005 2008
A 10 12 5 7
B 20 21 6 9
c 5 6 2 5
D 8 8 5 6

37. & 3INT 2o Jewn y

T, By, LSNERY, B0RLERD :

SRENEL TROE
2001 80
2002 100
2003 110
2004 120
2005 140
2006 150
2007 168

2009 Fe THET TROTE, VO,

= a + bx UA®G XOETN0H Ty 00w, BE0A



38.

7 Code No. 31

2Ot 1000 Q3e,Ge e FTRD BRTR) 55 8.My0 32082, A0 QIO 3 8.790
FTOTRE, LITBONT, VRO 3.

i) 48 g.myonvnog 8L
ii) 57 2.my0 33, 65 .Mmyond I@@
iii) 60 &.MmyonYNoZ ey,

BRBR)Y, LIT,BFNRY To, Ny, FomoLROWD.

an - E

V. 8 39NT WCSRFYITE0R Q08 FF A9 0,04 ¢ 2x5=10

39.

40.

41.

Ot B3 o3, RURD 2 TeeTTROZ SR, NV, 035053 FwoN S0AT .00
e ,;03E),

i) oIt DReEO T WA, N
ii) ©& 38,000 2 BReRFPOZ TR, M
3005 FORREINTEY, BoR LoD,

WOTH  TR@Ey, 1000 Fe  wn,Atent 3G @ken, @A 550 I
VOB 5% om,mE DYDY, T woPoLITNTedde 20w

SeTREIRWIBITE 7

WOTH FMTEE, LT T0HEE), FORRAT 77 OTFBNETY, 91 SRTECINT :

‘ o OQ | AR | BonG | Wy noo 3%, 32

ST 8 10 11 13 14 6 15

VTFINEY w00 2Ty, LRNYE, R FTEneend), RoPRATIIe 0T 5%
OF,BE T TG, TOe, A

[ Turn over



Code No. 31 8

42. 20T BTR,NT wokrd ekdSN 1000 SAT. F@ ©EL,OHT YIw 3803 TR,
10 eNT. FTBNY FONHE ATFRHE BB FHE S®FS, ©F0d LS 20%
ORI T LT e85 SR. 100 STT,

i) =T BTBTLRLBET ART BT BORHN

i) BAF Foxes RUF0 S

REYRGRY, BORIGROBO.



9 Code No. 31

( English Version )

Note : i) Statistical tables will be supplied on request.
ii) Scientific calculators may be used.

iii) All working steps should be clearly shown.

SECTION - A

Answer the following questions : 10x1=10

1. Mention a source of vital statistics.

2. The price index number for the current year is 121. Give your

conclusion.

3.  Write the formula for computing Laspeyre’s quantity index number.

4. Give an example for seasonal variation.

5. Is mean of Binomial Distribution less than variance ?

6. What is the probability that a normal variate takes a value greater

than its mean ?

7. Mention a use of Standard Error.

8. What is confidence coefficient ?

9. What is the value of a fair game ?

10. Name the control chart used in case of defectives in Statistical

Quality Control.
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SECTION - B

II. Answer any ten of the following questions : 10x2 =20
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15.

16.

17.

18.

19.

20.

21.

22.

In a community in a specific year 4000 live births occurred. In the
case of 50 of above, the mothers died due to child birth. Compute

M.M.R. ( per 1000 ).

Write any two limitations of index number.

If Py, (L) = 108 and P, (P) = 110, find P, (F).
Define irregular variation and give an example.

Under what conditions does Binomial distribution tend to Poisson

distribution ?
What are the mean and variance of Standard Normal distribution ?
Define size and power of a test.

Mention any two conditions in fitting % test of goodness of fit.

If (}_(1—}_{2) = 2:7 and SE (}_(] —XQ) = 1-:3 what would you conclude

at 5% level of significance for right tail test ?
Define Linear Programming Problem.

If the depreciation cost and the cumulative maintenance cost for an
equipment for the second year are Rs. 10,000 and Rs. 10,200

respectively, what is the annual average cost ?

Mention two types of causes for variation in a manufacturing process.
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SECTION - C
III. Answer any eight of the following questions : 8 x5 =40
23. From the following data calculate Total Fertility Rate :
Age (Yrs.) Female Population No. of Live Births
15— 19 50,000 1,000
20 — 24 60,000 7,000
25— 29 45,000 8,000
30 — 34 40,000 5,000
35 — 39 30,000 900
40 — 44 25,000 100
45 — 49 20,000 50
24. Mention any five steps in the construction of index numbers.
25. Calculate Paasche’s Quantity Index number from the following data :
Items A B C D
Base year Quantity 10 7 5 10
Current year Quantity 11 8 7 15
Current year Price 50 30 20 10
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26.

27.

28.

29.

30.

Find 5 yearly moving averages for the following time series :

Year Value
2000 10
2001 15
2002 18
2003 21
2004 25
2005 30
2006 33
2007 40
2008 50

In a textbook, on an average 0'3 mistake per page is found. If there

are 500 pages in that textbook, in how many pages will there be
i) no mistakes
ii) at least two mistakes ?

4 unbiased coins are tossed 64 times. Calculate the expected

frequencies for the number of heads obtained.

On 60 different days the numbers of passengers in a bus were noted.
The mean & S.D. of the number of passengers was found to be 40
and 3 respectively. At 5% level of significance, test the hypothesis

that the mean number of passengers in the bus is more than 35.

For the following data test whether there is any significant difference

in the population proportion at 5% level of significance :

Size Proportion

Sample I 100 0-02

Sample II 110 0-01
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31. L.Q. of 5 students before & after training are given below :

Student A B C D E
Before training 100 130 120 140 135
After training 110 133 121 140 138

Test whether the training of students increases 1.Q. ( Take o = 1% )

32. Solve the following game by maximin-minimax principle :

Player B

B, | B, | By | B,

Player A A, | -1 0 -2 1 -3

33. A factory is thinking of replacing a machine whose purchase price is

Rs. 10,000. Its resale value is Rs. 100. The maintenance costs are

given below :

Maintenance Cost
Year
(Rs.)

1 300
500
900

1000

1500

2000

2500
3000

X | N D | = W N

When should the machine be replaced ?
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34. Following table gives Mean | X ) and Range ( R ) of 6 samples of size

5 each :

Sub-group number 1 2 3 4 5 6
Mean (X ) 10 11 10 12 15 18
Range (R) 5 7 4 9 6 5

Find the control limits for X -chart. ( Given A,=0:577)

SECTION - D

IV. Answer any two of the following questions : 2x10=20

35. For the following two villages compute Standardized Death Rates &

comment :
Village A Village B
Standard
Age (Yrs. ) Population
Population | Deaths | Population | Deaths
0—20 20,000 8,000 128 4,000 72
20—50 30,000 13,000 65 9,000 54
50— 70 35,000 10.000 140 7,000 98
70 & above 15,000 4,000 252 3,000 129
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36. Calculate Dorbisch-Bowley and Marshall-Edgeworth price index

numbers for the following data :

Price ( Rs. ) Quantity
Items
2005 2008 2005 2008
A 10 12 5 7
B 20 21 6 9
C 5 6 2 5
D 8 8 5 6

37. For the following time series fit a linear trend of the type y = a + bx

38.

and obtain trend values :

Estimate the sales in 2009.

Year Sales
2001 80
2002 100
2003 110
2004 120
2005 140
2006 150
2007 168

The weights of 1000 students are normally distributed with mean

55 kg & standard deviation 3 kg. Find the number of students with

weight

i) less than 48 kg

ii) between 57 kg & 65 kg

iii) more than 60 kg.
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SECTION - E

V. Answer any two of the following questions : 2x5=10

39.

40.

41.

42.

On an average a box contains 2 defective items. Find the probability

that a randomly selected box has

i) no defective items

ii) at the most 2 defective items.

A coin is tossed 1000 times and head turns up 550 times. Can we

conclude at 5% level of significance that the coin is unbiased ?

77 accidents that have occurred in a city in a week are given below :

Day Sun Mon Tue Wed Thu Fri Sat

Accidents 8 10 11 13 14 6 15

Test at 5% level of significance that the accidents occur uniformly

throughout the week.

The annual demand for an item is 1000 units. Capital cost is Rs. 10
per unit. Inventory carrying cost is 20% of capital cost per annum. If

set-up cost is Rs. 100, determine

iy EOQ

ii) Minimum annual average cost.




